B.Com. Semester VI (Honours) Examination, 2021
Subject: International Business

Paper: DSE 4 (6.4.1 CH)

Full marks: 60 Time: 3 Hours

The figures in the margin indicate full marks
Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any six (06) questions: 5x6=30
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a) Define the term ‘international business’. Compare and contrast international business

with domestic business.
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b) How do the theories of absolute advantage and comparative advantage differ from each

other?
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¢) Differentiate between balance of payment and balance of trade.
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d) Explain the concept of Regional Economic cooperation.
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e) What are the barriers to International Business?
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f)  Write a short note on OPEC
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g) Write down the functions of World Bank.
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h) Explain the idea of “Joint Ventures”.
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2. Answer any three (03) questions: 10x3=30
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a. Briefly explain the role of IT in International Business.
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b. Explain the principles of WTO. State the differences between WTO and GATT.
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c. (i) Distinguish between fixed and flexible exchange rates.
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(if) Write the differences between tariff and quota.
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d. State and prove Heckscher-Ohlin theorem by price definition.
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e. Briefly discuss various trade barriers and non-trade barriers.
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